Matematyka I, seria 6

. Sporzadzi¢ wykresy funkcji R — R:
(a) f(z) = |z+1]|=2|x—1|+ |22+ 3|, (b) f(x) = |22 —x—6|+2®— |z —1].

. Rozwiagza¢ réwnania:
(a) [x+ 2|+ |z + 3| = |z + 1], (b) |22 — 1] — |2% — 4] = 22 — 1.
Odp.: () z=—4 Nax=-2,(b)z=—1 N z=2.

. Rozwiazac¢ nieréwnosci:

(a) ‘zi;‘>]$\, d) |z =1 < |z +1] + |z +2].
Odp.: (a) =2 <x < —1/2(1++5) A 1/2(=3+V5) < x < 1/2(=1++/5),
(b) z < —4 A z>-2/3.

. Zmalez¢ granice nastepujacych ciagow:

2" 4™ + (—3)" n3" 4+2n° —5
(a) al (b) T, (c) a1
(d) {/1+2n/n2 +37/n3 + ...+ kn/nk, gdzie k € N,
(e)(IW—n), (f) V/n3 +2n2 +3 — Vn2 + 2n + 3,
(2) <{’/(n+2)(n+4)(n+5) — /n(n + 1)(n+3)>

2" +nt o nP4nl+n" ~nl+3n” . [n?4+4nl
()n!+n28m n+7 ’ (i) n!+1 St n? 4+ nn

Odp.: (a) 0, (b) 0, () 0, (d) K, (e) 1/100, (f) —1/3, (g) 7/3, (b) 0, (i) 12.



